Table 2m

Tertiary Tree of Primitive Pythaorean Triples

PPT

- - .
13-84-85

204-253-325
160-231-281

240-551-601

333-644-725

315-572-653
731-780-1069
168-425-457

216-713-745
1403-1596-2125

795-1292-1517

1005-2132-2357

1056-2183-2425

880-1479-1721
1692-1885-2533
301-900-949

287-816-865
1496-1647-2225

740-1269-1469

860-1749-1949-

767-1656-1825

585-928-1097
969-1120-1481
132-475-493

1320-2881-3169

1539-3100-3461

2323-4836-5365

2272-4785-5297

1012-1995-2237

793-1776-1945

84-437-445
1007-1224-1585

735-1088-1313

3864-3977-5545

1300-2331-2669
2928-3145-4297
649-1680-1801
803-2604-2725
5084-5763-7685

2840-4641-5441

11523-11564-16325

3045-5092-5933
5781-6460-8669
1008-3055-3217
936-2623-2785
4773-5236-7085
2325-4012-4637

i 7923-8036-11285

1760-2769-3281
2852-3315-4373

371-1380-1429
Il B

413-1716-1765
3692-4365-5717

2432-3735-4457

3627-6364-7325

7755-8428-11453

B 11115-12508-16733

1608-4345-4633

1848-5785-6073

B 6027-9964-11645

| 6032-9975-11657
11132-12525-16757

1853-5796-6085

1615-4368-4657

7800-8479-11521
3652-6405-7373

2457-3776-4505

3737-4416-5785
420-1739-1789

8200-8319-11681

2772-5605-6253

S

3864-8023-8905

12100-12141-17141
3741-7900-8741

1501-2940-3301
4141-4260-5941
1144-2583-2825

Table 2m.

These simple
equations were
used to fill in the 8
parameters shown.
The Areas &
Perimeter are easily
calculated.

The key is to use
the Previous
Tertiary Branch
values to solve the
Next Branch.
(See Table 2I.)

5th Tertiary Branches
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P=Cprevious P=rmid-next =~ 2P=APmid-next & next
2P+ Pnext=2P+Cprev=Cmid-next-uppercluster
2P+ Pnext=2P+ Cprev=Cmid-next-middlecluster
2P+ Prext=2P+Cprev=Cmid-next-lowercluster
fmig=constant fun+pur=rmid f mid=Prmid-next="ru/-next
fmid+Pmid-next=rut-next VBA+f2=fuinext f=b-a=t-s p+r=s+t

c-b=s c-a=t a+C=Smid-next b+C=lmid-next  Imid-next=2 (a+b+C)
rup-next=2 (a+b+c)/a for outside only

ro-next=2 (a+b+c)/(a/2) for outside only
P=2c+r c-2r=p c=2r+p 2P+pPnext=2P+Cprev=Cmid-next-middiecluster

C - lulnext= fmid-next Imid=P = fur  Fmid= Jfmid = fun= fusl

C-fmid=ful-next  C+fmid=fut-next 4A=ruinext factors
> of s,t cross-members within a cluster are equal, AND, they
follow a number pattern sequence down the table with linkage

(2 entries), AND, always 1 EVEN & 1 ODD
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